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cr M
1 2
3 S0 B Br SO 4 Br
(SAR) Na 4
Na'
SAR t
SAR=rNa’ /,/0.5(rCa® +rMg?") ®)
-
(
) 4 "I 1
1
2
2
/(mg/L)
cIl 250 100 250-600 400 600-1500 800 1500 2200
M 1000 500 1000-2000 1500 2000-3000 2500 3000 3500
802_4 200 75 200-450 350 450-1200 700 1200 1800
Br 0.75 0.25 0.75-1.875 1.25 1.875-5.75 2.50 5.75 9.00
SAR 2.00 1.40 2.00-3.55 2.60 3.35-10.00 4.50 10.0 15.50
3
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3.2 K CI.,M,S0%.,Br ,SAR A
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3
cr M S0 Br SAR
/(mg/L) 250.7 1875.2 70.1 4.65 3.2
[0.498 0.502 0 0 |
0 0.625 0.375 0
R=(rij)mxn = 1 0 0 0
0 0 0.669 0.331
| O 0.684 0.316 0 |
()
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3.3
[51
X 13
W==" S=-33 (14)
n
Xi Si (a3) n
W
W T | 15
Tw (15)
i=1
4
4
cr M S0 Br SAR
W 250.7 1875.2 70.1 4.65 3.2
Sf 875.0 2000.0 731.25 3.5 6.00
W 0.287 0.938 0.096 1.329 0.533
W, 0.090 0.295 0.03 0.418 0.167
5 A
A 0.09 0.295 0.03 0.418 0.167
)
3.4 2 B
B B b;
[0.498 0.502 0 0 |
0 0.625 0.375 0
B=AR=[0.09 0.295 0.03 0.418 0.167] 1 0 0 0
0 0 0.669 0.331
0 0.684 0.316 0 |
3.4.1 A dij Ijk
aijljk aijljk
B=AR=  (0.09 0.498) (0.295 0) (0.03 1) (0.418 0) (0.167 0)

(0.09 0.502) (0.295 0.625) (0.03 0) (0.418 0) (0.167 0.684)
(0.09 0) (0.295 0.375) (0.03 0) (0.418 0.669) (0.167 0)
(0.09 0) (0.295 0) (0.03 0) (0.418 0.331) (0.167 0)
= 0.09 0 0.03 0 0 0.09 0.295 0 0 0.167
0 0.295 0 0.418 0 0 0 0 0.331 0
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